7%. Encuentra la solucion de cada ecuacion.

al 6-l8—5—2=123

b —4-3-X+9=x
ctid+3x)-(—N+12=—8x
dysa=2-6—3a +21

Bl3—-(b+4)=0

fl e —5-lc—N=1
P3-2-y—4="1
h 16—y =5—T72—3y)

ajpo—30-2=2a—+6a0—20=30+2 —4a=32 —-a0=32:4—ao=8
b)-12+dx+9=x—dx—-x=12-9— Ix=3 —x=3:3 —=x=1

)

C)-2B—21x+12=-8Bx — —21x+ Bx=28-12 — -13x=16 - x= —

d)50=12-6a+21 —+5a+60=12+21—11l0=33 —0=33:11 —o0=3
e)3—-b-4=0—-b=-3+4——b=1—b=-1
fl9c—5%¢c+5=1—9—-5¢c=1-5—dc=—34 —+c=—4:4—c=-1

B)3-2y+8=11—-2y=11-3-8—-2y=0—y=0

h) 16 —4y=5—14+21y — —4y—21y=—16+5—14 — 25y =—25 —+ y=-25:-25—y=1

7%. Halla la solucion de las ecuaciones.
a) S{x — B
b) 2{x + 5)

3k — @ L —Nx+3A=28+x
ax + 31 dy =56 — Bx)= 5% — 10

a)ox—a0=3x— 18 = 5x—3Ix=40- 18— 2x=22 —-x=22:12 —=x=11
b)2x+10=9%+31 = 2x— 9 =—-10+31 =+ -TFx=21—x=21:(-7) = x=-3
f)x-3=12+2x——-¥—2%=3+12 —-3Ix=15—x=15:(-3) = x=-5

d}—30+25x=5x— 10—+ 25x—5x=30-10 —+ 20x=20 > x=20:20 »x=1

80. Resuelve estas ecuaciones,
a) (x+ 28)+ 15 = 2{x + 15)
D) 2%+ 1=8—(3x + 3
2x—"N=slx+ 1)
di 2(x — 5) = bix — &)
e Mx—4y=3x— 7
fl3x—3N—-Yx—-58=46
g 6 —3H+5x+4=15

Al x+28+15=2x+ 30— x—2x=—28-15+3I0 — —x=—-13 —x=13

4
b)2x+1=B-3x—-3 — 2x+3x=-1+8-3 =+ Sx=4—x==

]

C)2%x—1d=6x+6—2x—Bx=14+6——-dx=20 = x=-5
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dj2x—10=5x—-20—= 2x—Sx=10- 20 = -3x=-10—x= —

gy —24=3x—-9 —+Bx—Ix=24-9—=3Ix=15—x=5

fl3x—9—4x+20=6—3x—4x=9—-20+6——x=-5—+x=5

E)Bx—1B+5x+20=15—6x+5x=18-20+ 15— 1lx=13 —x= 1—5



